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Lemma 103 Letrgo =a-x < bands = ZL la;l. All states s; added to the worklist
during the execution of PAtoDFA(yp) satisfy

—lbl— s < j<|bl+s.

Proof: The property holds for s, the first state added to the worklist. We show that if
all the states added to the worklist so far satisfy the property, then so does the next one.

Let s; be this next state. Then there exists a state sy in the worklist and £ € {0, 1}" such
that j = L%(k —a - {)]. Since by assumption s; satisfies the property we have

—1bl=s<k<|bl+s

o — b+ 5 —a-
{—” ; a{Jsjs[—”Hza{J (10.2)

and so
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Now we observe

~lb] - 2s {—Ibl—s—a-gJ
-pl-s £ —— < |—m—m——=
7 2
Boocat) o mon o,

which together with 10.2 yields
—bl-s<j<|bl+s

and we are done. O
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dzx=4z A Iwy=4w A 2x—-y<2 A x+y=>4

bl el

DFA for the formula zx =4z A Jwy = 4w.
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